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N.B. .— () Attempt All questions.
(it) All questions carry equal marks.
() | WA Hrean
(i) §E WA FEE O SR
MCQ
1. Find out the odd option : 10

(A) Dairy co-operative society
(B)  Marketing society
(C)  Sugar co-operative factory

(D)  District credit co-operative Bank

fogma @@ my

(A) TY HWERK ¥ (B) faumm wen

(C) HEHRI HRER HREMI (D) fSce wexadt Wl o6
2. e, is father of co-operation.

(A) Dr. Robinson (B) Dr. Pigou

(C) Robert Owen (D) Dr. Marshall

P.T.O.
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.................... %» W S 3:“%?_‘-
(A) =T UelE B) = fg
(C)  Us 3o (D) <. AEfe
First Co-operative Act in India passed in the year :
(A) 1904 (B) 1912
(C) 1918 D) 1920
TRATA UFEST TERE FIEE] e A A e
(A) 1904 (B) 1912
(C) 1918 (D) 1920
Identify the correct pair :
(A)  Primary credit co-operative society — State
(B)  Urban co-operative Bank — Village
(C) District central co-operative Bank — District
(D) State co-operative Bank — Urban
3Tk SISl 3@
(A) e FEHR gaEEe — T
(B) AR WEHR o - ©e
(C) TS Aeadl Wil oh — S
(D) T Hewl % — AR
Co-operative movement is depend on the principle of :
(A)  Private principle (B)  Co-operative principle
(C)  Public principle (D)  Socialism principle
'HE)ch'a = [ St AL EIE GG 3:“-%4-'-{'-"?[ 341%-.
(A)  Terlt (B) Hewll q
(C) HES® q (D) HHSER!

Which of the following is the reason for slow development of co-operative

movement in Maharashtra ?

(A)  One-sided development (B) Loan overdue
(C) Lack of management (D)  All of the above
RTINS el Fodei=l A I WSioudh! SR RI0[ 2

A) A fawmm (B) 9hid et
(C) TSN HIEH (D) IUSI gd
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Which of the following Bank is called as Apex Bank in co-operative

sector ?

(A)  State co-operative Bank

(B)  District central co-operative Bank
(C) Land Development Bank

(D)  State Bank of India

TSGR BV Sk FERRI GG RTER d6 BA Aowe! o ?

(A) T TR dh

(B) foegr Aegadt Wt o
) 9-fowm

(D) YRdE V< o9&

In socialism profit goes to ................. .

Shareholder
None of these

TITEN
RIEEINE )

..................... was the chairman of All India Rural Credit Survey Committee.

Dr. A.D. Gorwala

C. Rangarajan

T W Bl IR
Y. TR

National level
All of these

L Tes
Tkt T

(A) Company (B)
(C) Government (D)
W‘G{ = 1 —c"@ T‘ﬂ?ﬁ

(A)  HE (B)
(C) W& D)
(A) Dhananjayrao (B)
(C)  Vaikunthlal Mehta (D)
.................... %» 34-[-‘@?5 Q:H-{T_ﬂ-q -q-l-l:ﬁ-u-l- W q-lg-uﬂ- H'ﬁ:l?ﬁ% 3:{?_2-85[ 'E»;ﬁ
(A)  YEASEE MEes (B)
(C) JH3e T (D)
Nature of co-operative movement is ...........
(A)  Global (B)
(C) State level (D)
‘H‘éqﬂa _qoéolq;l_a Ty e 3:|-|%-

A Sfew (B)
(C) U9 Uaa (D)

P.T.O.
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Theory
Compare between socialism form and co-operation. 10
HASTETR] SHaeel 9 Rl dodl .
Or
(fenam)

Explain the functions of Agricultural primary credit co-operative society.
Tt FE TAYEel TR’ TRl wE TR H
State the provisions of Co-operative Act of 1912. 10
HEHR FEE 1912 A TGS @A
Or

(fenam)
Evaluate the co-operative movement in India.
ARATIG HehRl Feosdeeia Hed HIIT .

Write short notes on (any two) : 10
@) Scope of co-operation

(1) Impact of second world war on co-operative movement

(ziz)  State co-operative Bank

(v)  Consumer co-operative society

drea femr fogr (FvE @F)

() — FEhIE ATl

()  Tgdta Te”ern HWeshil dIaacieoiie gy
Gii) T WEHN o

(iv) TEH TEHN HE.

OR
(Agricultural Economics-II)

— (@) Attempt All questions.

(iz) All questions carry equal marks.

(z1zi) Wrong answers will carry negative marks for MCQ.
() W& T afer e

(i) @d WAA GEE O SR

((ii) SEUART WANTG Fhi=al SUUE HBOMHE T[0T 3.
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MCQ 10

"Agricultural economics is the study of relationship between the wealth getting
and wealth spending activities of man in agriculture".

(A)  Hibbard (B) Gray

(C) Wallace (D) Taylor

“Idme wuwl fhefauaren onftn T wvaren fRame S "oy i g @
A HY WIS Sl S@l’’, 3™ HO B ?

@A) e B) ¥

(C) dleH (D) TR

Which of the following sentences is correct ?

(A) Modern method is used in traditional farming

(B) Traditional method is used in traditional farming

(C) Traditional, modern method used in traditional farming
(D)  Modern irrigation system is used in traditional farming
T@UH! ®U foum ' e ?

(A) URURE AL MY TS STIod Hel Sl

(B) TURUR& IAEd URURI TSdral o) &hel Sl

(C) TURUR& IAed IRUReh MY ggdral arR ol

(D) IR I MY Sortded dgdrdl 9 Hal Sl

From the following which is true statement ?

(A) India is a capitalist country

(B)  Greenhouse is not used for floriculture

(C)  Population of agricultural labour is less in rural area
(D) India is an agricultural country

THGUR HIU fa9F T e 2

(A) 9RG F WETAHME T T8

(B) THOURAHS gRaueEl 9 Sl W ATl

(C)  THIO 9T ISl e wH ST

(D) WRd B HITGEE < 3R

P.T.O.
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From the following which is not a source of fish production ?

(A) Tank (B) Well

(C)  River (D) Factory

ETABUH! RVl HEISAGATS A @l 2

(A) doE (B) TR

© (D) @
........................ is an Agrobased industry.

(A)  Coal industry (B) Cement industry
(C)  Sugar industry (D) Iron and Steel industry
...................... & ngﬁS[ e SE e

(A)  hiesdl IEM (B) fa¥e s@m

(C)  HWER SEm (D) JEE 9 UerR UM
There is ................ relationship between size of agriculture and productivity.
(A) Inverse (B) Equal

(C) Nearest (D) Less

ﬁ?ﬁ;n- AR 3:“-[-‘0-[ WT -q-l-q-@- .................. g’a'-%;l- m

A) = (B 4=

(C)  Seed=n (D)  wHH

Fishery is a/an ................... industry.

(A) Large (B)  Agriculture allied
(C) Small (D) Cottage

W g—l- ..................... E@TI 311%.’

(A) @ (B) FHF

€ Y D) R

In India agricultural labour has included in which sector ?
(A)  Organised sector (B) Un-organised sector
(C) Both (A) and (B) sector (D) None of these
IRA i HHew HIUA &9 FHIfasS Bl 2

(A)  FEfed & (B) rgEfed &

(C) (A) =7for (B) St & (D) IR AR
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10.

After globlisation the rate of subsidies

7))

(A)  Increasing (B)
(C)  Constant D)
IRATT SR IR LOMaR STGET §X e
B = (B)
(€ fer (D)
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Decreasing
None of these

RIECINEI]

Match group 'A' with group 'B' and select the correct answer from the codes
given below :

(c)
()
(z11)
@i1)
(iv)

@)
(i)
(€223
@)

(d)

@)

@)

@)

@)

Group 'B'

Less than one hectare farm
Export of mango

Cotton

Agro allied industry

T g MR T THie Sedl Sodd SaREl s Gehdih ael :

Group 'A'
(@) Fisheries
b) Cash crop
(c) Foreign currency
d) Marginal farmer
Codes :

(@  (b)
A o (zi1)
B) @) @)
C)  Guv) @)
D) @) @)

e ‘I’
(@) HEUTSA
b) Tt Uk
¢  folt =@
(d) | e
Hehdich :

(@ ()
A o (z11)
B) @) @)
C)  Guv) @)
D) @) @)

(c)
(iv)
(z11)
(i)
(iv)

@)
(i)
(iii)
@)

d)

@)

@)

@)

(@)

e ‘I’

T gaeIde & 3w
SRR
I "

FO ek S

P.T.O.
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Theory
What is the role of Agriculture in economic development ? 10
ik foehmama Sl iy &E 2
Or
(fenam)

State the trends of agricultural production.

Fft IURAG Yl TS F.

Explain the remedies of Agricultural production. 10

FY IORAS e T H.
Or
(fenam)
Explain the difficulties of floriculture.

RAICIRANS TS0 T .

Write short notes on (any fwo) : 10
(@) Irrigation

(11) Power

(ziz)  Agriculture mechanization

(tv)  Agriculture productivity

dregd fewr fogr (wod @)
G) ot

Gi) i

(i) 3N AR

(v) Y IcUEHI.
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